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1. /k@nJr%%ﬂi‘J:

Calculate the following formula.

nwnEn

>

b EN
15 R4 i R
DO 2y X 3«x D 4bX2a
=2X3XyXx
=6 xy

@ x X x = axlxyxl = 41¥1

@ xX x X x

@ x2 X x3 = 42+3 @ x X &3
=(xxx)x(xxxxx)

@ («x2y)? @ (3y)?
=(xxxxy)x (xxxxy)
= 5 yZ

2 KK@JE% B ; REA Expand the following formula.

v E bA L

i il &

) x@) @ x(x — 4)
= xxx+ xx(—3)
=x’—3 x

® 509 @ 2(x — 3)
= 3xx + 3x(—2)
=3 x 6

® “(x+2 @ —2(x + 3)
=(-1)xx+(-1)x2
=—x—2

Lz Th P
3. KK@JE% £ A Expand the following formula.
v E bA L
i i /&

O Y

= 3x2 +6 x+x+2

=3 x*+7 x +2

® 2x+ 1) (x + 3)

® (x+rAb+d)

= 332 13xtaxis

=3 x°+5 x+2

@ (2x + 3)(x + 1)

@ (% -2+ )

T I3 22

=3 x'+x—2

® (2x — 3)(x + 1)

© (¥ 96

= 3x2 —3xt2x—2

=3 x'—x—2

@ (2x + 3)(x — 1)

® (x- 261

=8 3x 2xh2

=3 x'—5 x+2

® (2x — 3)(x — 1)

BB

4.&@ﬁ%§ﬁ@;

(x+a)(x+ b)=

Expand the following formula.
P +(@+ b)x+axbd

nwEn

il B

-~
=

[

oz

b
fid

@ (x+ 38)(x + 1)

= 22 +(3+1) x+3x1

= x' 4 x+3

@ (

K

+ 3) (x + 2)

@ (x+ 3)(x — 1)

@ (x+ 4) (x — 1)

= 22 +(—3—4) x+(—3)x(—4)

=x'—7 x+72

=22 +(3-1) x+3x(—1)
=x*+2 x—3

® (x — 3)(x + 2) ® (x— 2)(x+ 1)
— 22 +(—3+2) x+(—3)x2
=x’—x—¢

@ (x — 3)(x — 4) @ (x— 3)(x— 1)

oX L& Th
5. koXzZRBHE L.

Expand the following formula.

¥(a+ b)*=a*+2ab+ b

v e b

15} A

O (x+ 1) O (x + 3)
= x2+2xxx1+12
=x'+2 x+7

@ (x— 4)? @ (x — 5)?
= 22 +2 xx x(—4)+(—4)2
=x’—§ x +76

@ (Bx+y)? @ (2x + y)?
= (3x)2 +2 x(3 x)x y+y2
=9 x’+6 xy+ y°

Th v

6.&@ﬁ%§ﬁﬁi

Expand the following formula.

¥(a+b)(a—b)=a*— b

{5 i

D (x+ 2)(x —2) @D (x + 6)(x — 6)
= 2 — 22
= x’—y

@ (Bx—y) (Bx+y)

=322 -2

=9 x?— y?

@ 2x—y(2x+y)
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1.

=3 9x 2xr6

=3 x'—77 x +6

/j’( D (H‘ %- A J: Calculate the following formula.
an bAEN
11| RH ] &
© (—2b)x(—q) @ (—3y)x(—5x)
—(-2)x (- x bxa
=2ab
@ aXa =axa=d" |@ xXx
= q-
@ X2 X xt= 2 @ x2 X x3
=(xxx)x (xxxxxxx)
= x¢
@ (—3x) @ (—4y)?
=(—=8xx)x(—3xx)
=9 x?
ekd L& Th
. Yk@ft% Eid V@'J:o Expand the following formula.
N bAED
11| RE Bl
@ x@) D x(x—7)
= xxx+ xx(—5)
= x’—5 x
@ 3@) @ 2(x— 1)
= 3xx + 3x(—1)
=3 x—3
® “(x+ 3 ® —3(x + 5)
=(—1)xx +(—-1)x3
=—x—3
L& Th
/j’( D J‘ & 51 iy ° Expand the following formula.
nnEn bAED
11| RE i &
@ (3@) O 2x+ 1) (x+ 2)
=822 19 xixts
=3 x’+70 x +3
@ (3@) @ (2x+ 3)(x + 2)
= 322 19x12x76
=3 x*+77 x +6
® (3% 2 (x+ 9 ® (2x— 3)(x + 2)
= 322 {Gr 2x 4
=3 x*+4 x—4
@ (3@) @ (2x+ 3)(x— 2
=822 gxiaxa
=3 x*—4 x —4
® (%263 |®@x— 39

4.

5.

6.

Th P

/j’( D J‘ & E E'ﬁ H J: Expand the following formula.
¥(x+a)(x+b)=x*+(@+ b x+axb
foi s i
@ (x + 1) (x + 10) @ (x+ 2)(x+ 5)

+(1+10) x+1x10

x*+77 x+70

@ (x+ 6)(x — 1)

@ (x+ 3)(x — 2

= a2 +(6—1) x+6x(—1)
= x’4+5 x —6
® (x —2)(x — 3) ® (x—6)(x—1)
= 22 +(—2-3) x+(—2)x(—3)
=x*—5 x+6
@ (x — 3)(x + 4) @ (x — 2)(x + 6)
= 22 +(—3+4) x+(—3)x4
= x’+x—70
?E@%é%%%ﬁ J:o Expand the following formula.
¥(a+ b)*=a*+2ab+ b
N b
15l R b
@ (x + 7)° @ (x + 8)?
= a2 +2xxx 7 +72
= x* 74 x +49
® (x— 1y ® (x— 2y
= 22 +2xxx(—1)+(—1)2
=x*—2 x+7
@ (x + 3y)? @ (x + 4y)?
= a2 +2 % x % (3y) +(3y)2
=x’+bxy +9y°
/k@ﬁ%%ﬁﬁ;ﬁﬂi‘ L. Expand the following formula.
¥(a+b)(a— b)=a*— b
N b
15l R i &
@ (x + 5)(x — 5) @D (x+ 9)(x—9)
=2 — 52
= x’—25

@ (x—2y) (x+ 2y
—(2)2

— gy’

@ (x — 3y (x + 3y)
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Expand the following formula.

Th

o Kok EEE L,

Expand the following formula.

nwnEn

ATV

nwnEn

>

A T2

= 3% f3xc2x 2

=3 x'+x—2

— 12 — g2

= x?— 44

fil il il i
@x@) D x(x— 4) @ (x+ 6)(x+ 1) @ (x+ 5)(x + 1)
=xxx+ xx(—b) — x2 +(6+1) x+6x1
= x’—5 x
a2
ey =X"+7 x+6
@ 2(x + 6) @ 4(x + 2)
Cxxto2x6 @ (x—4)(x—1) @ (x—5)x—1
=2 x+472 = o2 +(—4-1) a+(—ax(-1)
® 2% (x + 4) ® 3x(x + 3) — x5 x +4
e e ® (x— 4)(x + 1) ® (x — 3)(x + 1)
=2 x’+§ x
= 22 +(—4+1) x+(—4)x1
@ “(x—3) @ —3(x — 2
R S
=(—D)xx +(—1)x(—3) =X —3x—6
=—x+3 @ (x —2)(x + 6) @ (x— 2)(x+ 4
® (- 9x3 w-26-9 |® (x— 4)x3 — a2 +(-2+6) (-2
=xx2+(—3)x2 :x2+4 X 72
=2 x—6
® (x+2y) (x+ ) ® (x+ 3y (x+y)
©® (62— 4x%)+ 2x ® (3x*— 6x%)+ 3x
T ey = a2+ (2y+y) x+ 2%y
=(6 ¥4 ) x ——
=x’+3xy +2 y’
b x 4y
T 2x 2 x ® (x+2y) (x— 3y) ® (x+ 3y (x—4y)
= 3x’ —2«x = a2+ (2y—3y) x+2yx(—3y)
— —xxy 6y
@ (3@) @ (2x+ 1) (x + 3)
’ @ (x + 1) @ (x + 5)
= 3246 x+x+2
= 42 +2xax1 +12
=3 x*+7 x +2 P x4y
= 2+ 2xxx(—3)+(—3)2
=3 x’—7 x+2 =x’—6 x+9
Ty &y
@ (3x — @ (2x+ 3)(x — 1) @ (3x + 2y)? @ (2x — 4y)?
=322 _3x-24t2 = (3x)2 +2 x(3x)x(2y) +(2y)2
— 0 42 2
=32 —5x+ 2 =9x+2xy+4y
(3@) (2x—3)(x+1) (x—8)(x+8) (x+6)(x—6)
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1. Yk D) ft & E E'ﬁ X ° Expand the following formula. 3. Yk D] ft & E E‘Fﬁ X ° Expand the following formula.
(a+ b) = a®+ 2ab + b* P
nv D {@J% (a+ b)Z(a— b)2

Bk (@t b+ 20)? ={(a+b)(a—b)}
{a2~ bZ }2
(a®)=2 (a”) (b )+(d")
=a’—2 a’b?+ b’

{(a+b)+2c}
=(a+b) +2(a+b)x(2 ¢ +(2 ¢’
a’+2ab+b" +4ac+4 bec+4c?

—a’+2ab+4ac+b> +4bc+4 ¢

e (x+1)2(x— 1)
M (a+2b+c)

(ol
>
—

L& Th P

4. ot EBEEE L,

ba D

B (2 x4 1) (2—x+1)

®
2. ?E@%é%%%ﬁio Expand the following formula.
%(a + b) (@ — b)= a*— b*
5 (a+b+c)(a—b+c)
={(at+c)+tb}{(at+c)-0b}
_ 2 R D
—late) —b ] i (+2x+2)(x*— 2x+ 2)
a’+2 ac + ¢> — b’ @

a’— b’ +¢* +2ac

B (a+b+2)(at b—2)
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ek L& Th v ek L& Th P
1. Yk D) ft & E E'ﬁ X ° Expand the following formula. 3. Yk D] ft & E E‘Fﬁ X ° Expand the following formula.
% (x+a) (x+b)=x*+(a+b) x+a b P
o En ol (a'+ b)Z((z__ b)2

B (x+y+2)(x+y+3) ~{(a+b)(a—10b)})
{a24~ bZ }2

(@Y= (a?) (b )+(b")
=a’—2 a’b’+ b’

={(x+y)t2 {(x+y)+t3}
=(x+y) +(2+3 )x(x+y)+2x3
=X+ 2 xy+ ytsx+5y+6
=x’+2xy+5x+y F5y +6

(ol
>
—

(x+2)(x— 2)

o
<
=
pat
.

Zms
%'j

(x+y+1)(x+y+2)

S

i (x+2y+1)(x+3y+1)

@
oF  LE  Thhn
4. 7 @ﬁ%ﬁﬁﬁﬁ X, Expand the following formula.
bA ED
i (2 +2x—4)(x*—2x — 4)
@
% LE  ThAL
2. koOXE*EBHYT X ° Expand the following formula.
%(a + b) (@ — b)= a*— b*
nw ey

HE (a+b+2c)(at+b—2c)

={(a+b)+2cl{(a+b)—2c}
(a+b) —(2¢)

) 2 2 o
—oH2abt b —de R (24 x+2) (2= x+2)

(a+2b+3)(a+2b—3) @

(ol
>
—

I
(i <
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1. %@%%%%ﬁio Expand the following formula. 3. %@%%%%ﬁio Expand the following formula.
% (x+a) (x+b)=x*+(a+b) x+a b 0
P fiE (a®+ 0*)(a+b)(a—0)
fiE (x+y+1)(x+y+3)
=(a’+ b ) (a’— b?)
={(x+y)+7 H{(x+y)+3} @ (b )
“(x+y) F(7H3 ) x (2t y)ts %3 e
=x'+2xy+y 4 x+4y +3 =a'— b’
=X’ xy+4x+y H4 Yy +3 —
LA ] A (x2+1)(x+1)(x—1)
HE (x+y+1)(x+ty+4)
DE LE Th P .
2. ?E@%é%%%ﬁio Expand the following formula. 4. 1 @ﬁ%ﬁﬁﬁﬁio Expand the following formula.
D — — 2 _ 2 b
Hatbhe—b)=a—b ] (*+2x—3)(x*— 2x— 3)
5 (a—b+2c)(at+b+2c) v

={(a+2c)-bl{(a+2c)+ b}
=(a+2c)" — b
=a’+4 ac+4 ¢’ — b

=a’+4 ac — b* +4 ¢

HA D

W (a—3b+2)(a+3b+2)
®

A T2

W (2 2x 1) (a2 2%+ 1)
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1.

Draw an arrow of expansion and expand it according to the distributive law.

o é/V U s A
/j’( D n+ %_- i J: Calculate the following formula. 3. /j'( ) n+ %_- A J: Calculate the following formula.
e ED bh D e En LA
f5il /E i & 15l R i &
D 2xxx =2xxxx |D 3xXxx DO 2x —«x =@2-1)x |[O 3x —«x
= 2 x? = x
@ 2xx3 =2x3xx|@ 3xx1 @ 2x — 2« =2-2x |@® 3x — 3«x
= b6 x =0
@ x+ x =1+Dx |® x+ x+ x ® —3x-+«x =(-3+)x|® —2x + x
= 2 x = —2x
@ 4x + 2« =@4+2x |@ 3x+ 2« @ —x — 2x =(-1-2x|@ —3x — «x
= 6 x = —3 x
Th pn L LHL /Sa/uﬂi"b\!‘i5%< Th b Th L LsL » /Sa/uﬂi"b\!‘i5%< Th B
. EBROX M EESE, HBEHIIC I BREE L 4. JEF#EJ@QEED FEE, pREAICIVERYE L.

Draw an arrow of expansion and expand it according to the distributive law.

nwnEn

il

nwEn

il B

@ (2x+ 1)(«x

~—7

+ 3)

= 2xXx +2x X3 +1Xxx +1X%X 3
2 x°+6 x+ x +3
2 xX+7 x +3

. T

@ (2x + 3)(x+ 1)
S~—~ 7
= 2xXx +2xX1+3Xx +3X%X1

2 x°+2 x+3 x+3
2 x2+5 x+3

@ (3x — 1)(«x

~—7

+ 2)

=3xXx + 3xX2 —1Xx —1X%X2

3 x?t+b6x—x—2
3 x2+5x—2

@(2@1)

=2xXx —2xX1—-3Xx+ 3%X1

2 x?—2x—3x+3
2 x°—5 x +3

[ead
Y\v",'

b <

b A

il

@ (8x+1)(x+1)

@ (2x+1)(x+3)

@ (2x—1)(x+ 2)

@ (8x—1)(x—2)

® (8x+1)(x+ 2)

@ (2x+1)(x+2)

® (2x+1)(x— 2)

@ (3x—2)(x—1)

® (3x+ 1)

=(3x+1)(3x+ 1)

® (2x+ 1)

=(2x+1)(2x+ 1)

® (2x — 1)

® (3x— 1)
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1.

Jv é/u

T S A

@® 3/Ti:§f:3
(3% + 1)(x + 2)

= 3xXx +3xX2 +1Xx +1Xx2
3 x+b6bx+x+2
3 x+7 x+2

R N
@ (3x+ 2)(x+ 1)
~N—7 7

= 3xXx +3xX1+2Xxx +2X%X1
3 x?+3 x+2x+2
3 x+5 x+2

@(3x+—§4£;;})

= 3xXx —3x X2 +1Xx —-1X%X2

3 x?l—bx+x—2

3 x2—5x—2

/j’( D n+ %_- i J: Calculate the following formula. 3. /j'( ) n+ %_- A J: Calculate the following formula.
neEn bAEN neEn bA RN
15 R4 i & 15l &E i
D 3xxx =3xxxx | 2xxx D 4x—«x =@4—1)x D 2x —«x
= 3 x? = 3 «x
@ 3xx2 =3x2xx |@ 2xx%x1 @ 3x — 3«x =@-3zx |@ 2x —2«x
= b x =0
@ x+x+x =(+1+)x |® x+ x ® —83x+ 3x =(3+t3x |® —2x + 2«
= 3 x =0
@ 3x + «x =@3+1) x @ 2x + «x @ —2x —3x =(23x |@® —6x —x
= 4 x = —5x
Th B ® AL éa/uﬂfb\!‘i5%< TA DL Thpn ® LaL B /Sa/uﬂi"b\!‘iiz:< Th p
. EBROX M EESE, HBEHIIC I BREE L 4. %F‘aﬁ@%Eﬂ FEE, pREBEANC IV EREY X,
Draw an arrow of expansion and expand it according to the distributive law. Draw an arrow of expansion and expand it according to the distributive law.
i FOUAR A
15 R4 15l RE
/\/—\ m

@ (3%~ 2)(x 1)

= 3xXx—3xX1—-2Xx+2X1

3 x?—3x—2x+2
3 xi—5x+2

[ead
Y\v",'

b <

b A

il

@ (4x+1)(x+1)

@ (4x+1)(x+2)

@ (2x+1)(x— 3)

@ (2x—1)(x—3)

® (4x+3)(2x+ 1)

@ (3x+2)(2x+1)

® (2x—1)(x+ 2)

@ (2x—3)(x—1)

® (3x+ 2)2

=(3x+2)(3x+ 2)

® (4x+ 1)

=(4x+1)(4x+ 1)

® (3x— 1)2

® (2x— 1)
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1.

Draw an arrow of expansion and expand it according to the distributive law.

AN é/u A=Y
/j’( D n+ %_- i J: Calculate the following formula. 3. /j'( ) n+ %_- A J: Calculate the following formula.
N HA N N b AEN
11| RH ik 151 A ] RH
D 3x%x2x =3x2xxxx|D 4x%x2x D 4x—«x =@a-1)x |O Hx — «x
= 6 x? = 3 x
® 4%x2x =4x2Xyx ® 4xx3 @ Hhx — 2x =6-2)x |@® 6x —2x
= & x = 3 x
@ x+tx+x =1+1+1)zx |@® x+xtxtx ® —4x+x =(—4+1)x|® —3x + «x
= 3 x = —3x
@ 3x+8x =(B+9«x @ 3x + 2«x @ —6x —2x =(6-2x|@® —3x —4x
= /7 x = —§& x
Th £ ULaL »n /Sa/uﬂi"b\!‘ii%< Th Th £ LabL »n /Sa/uﬂi"b\!‘ii%< Th
. EBROX N EEE, pEEANC LY BREAE L. 4. %F‘aﬁ@%Eﬂ FEE, oREEMCEVERYE X,

Draw an arrow of expansion and expand it according to the distributive law.

nwnEn

il

nwEn

il B

m
@ (3x +4)(2x +1)
SN~—7 7

= 3xX2x +3x X1 +4X%x2x +4x1
b x*+3 x+6& x +4
b x24+77 x +4

m
@ (4x +3)(2x +1)
~—7 7

= 4x X2x +4x X1 +3X%X2x +1X%X3
¢ x?+4 x+6x+3
§ x2+70 x +3

O (35 1)
(3%~ 1)(x +3)

= 3xXx + 3xX3 —1Xx—1x%X3

3 x%4+9 x —x —3
3 x2+8 x—2

e N
@ (2x —3)(x— 2)
W

= 2xXx —2x X2 —3Xx+ 3%X2

2 x*—4 x—3x+6
2 x4—7 x+6

[ead
Y\v",'

b <

b A

il

@ (8x+1)(2x+ 1)

@ (3x+2)(2x+ 1)

@ (8x—1)(2x+2)

@ (8x—1)(2x—2)

® (6x+2)(x+ 1)

@ (3x+1)(2x+ 2)

® (8x+1)(2x—2)

@ (3x—2)(2x—1)

® (4x+ 1)2

=(4x+1)(4x+ 1)

® (3x+ 2)2

=(3x+2)(3x+ 2)

® (3x—2)(3x+2)

® (3x— 2)2

=(3x—2)(3x— 2)
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1. YE@%‘\%{%J@ L. Calculate the following formula. 3. %@%%%%ﬁio Expand the following formula.
N b N N b AEN
f5il /E ] RH 15l R ik
© 2yx(—42) ® 4bx(—5aq) O @x 0ty O BxrlEt2
=2x(—4)xyxx
=222 1 6xtats
=—§ xy
@ xxxXx @ xXx =2 x°+7 x +3
=l xalal = @ (2x+ 3)(x + 1) @ (3x+2)(x+ 1)
— x3
i =242 1204343
@ a2 X x3 = x2%3 @ x X x2
:(xXx)X(xXxXx) :2 x2+5 x+3
= ®° ® (2x—3)(x—1) ® (Bx—2) (x—1)
@ (2x)3 @ (3xy)? 02 gy gets
=(2x)x(2x)x(2x)
P =2 x*—5 x +3
® x5+ a2 ® x3+«x @ (2x—3)(x+ 1) @ (Bx—2)(x+ 1)
XXX Xx XX 59
N e =242 425343
= x3
5% LE Thhb =2 xZ*xﬁg
2. Yk@ﬁ%ﬁﬁ'ﬁﬁio Expand the following formula.
v b a B ® (2x + 3) (x o 1) ® (3x + 2) (x - 1)
f5il /E ik
D A9 ® x(x ) TR
=xxx+ xx(—2) =2 x2+x*3
=x’'—2 x
— ® (Bx+1)(x+ 4 ® (Bx+1)(x+ 5)
@ 2(x+ 3) @ 4(x + 2)
= 32% f12xtatd
=2Xxx+ 2%x3
=2 x+6 =3 x?+73 x +4
® 2@) ® 4x (x+ 2 @ (Bx+ 2 (x+ 4 @ (Bx+2)(x+ 5)
=2xxx + 2xx3 _
= 322 112248
=2 x*+6 x
=3 x?+74 x +3
® -2 @ —3(— 1)
(1) xx (1) x(—2) (Bx + 2)(x — 3) (Bx +2)(x — 2
- oxre =322 945206
e
® (K- x3 w-sp-2|6 (x— 2)x4 T x b
=xx3+(—2)x3
s ©® (Bx+2)(Bx— 2 © (2x+3)(2x— 3)
® (62— 3x)+ 3% ® 8x*— 4xY)+ 2x = o Gashed
B S =7 x
3 x
R (Bx+ 2)(3x + 2 (2x + 3)(2x + 3)
T 3x  3x
=922 16x16xt4
= 2x —x
=9 x* +72 x+4
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1. /k@?ri%% XA ot Calculate the following formula. 3. /j’(@t% %%J@i Expand the following formula.
N HA N i H AN
11| R Eik: 51| ]
© (-3b)x(~4aq) © (=35 x(~54) O @ Ox Y © (2x+ 1) (x + 3)
—(-39)x (~4)xbxa
=3x26atxt2
=72 ab
@ axa @ xXxXx =3 x°+7 x+2
= alxal =al¥l @ (3x— 1) (x — 2 @ (2x—1)(x — 3)
= a2
= 32" _Gacate
@ x X x3 = y1+3 @ x2 X x4
=xx(xxxxx) =3 x2~7 X +2
= ® (Bx—2)(x—1) ® (2x—3)(x—1)
9 3
@ (Sxy) @ (ny) :3x2m+2
=(3xy)x(3xy)
—g iy =3 x’—5 x+2
® xt =+ a3 ® x3+ «x @ (Bx—2) (x+1) @ (2x—3)(x+ 1)
_ w:xéx—s:xl
TR =3x2 £3x-2x2
=x
o =3 x’+ x —2
2. /j’(@t% Eﬁ'ﬁﬁ:i Expand the following formula.
A YA L ® (3x + 2) (x - 1) ® (2x + 3) (x o 1)
11| R ]
) x@) O x(x— 8 = 34 St
— xxx+ xx(—4) =2 x*+x—3
=x'—4 x
— ® (Bx+1)(2x+ 3 ® (2x+1)(Bx+ 2
@ 3(x— 2 @ 2(x— 3)
= 622 19x+2xF3
=3xx+ 3x(—2)
=3 x—6 =6 x’+77 x +3
® 3@) ® 3x(x+ 1) @ (Bx+1)(2x+ 2 @ (2x+1)(Bx+ 3
=3xxx+ 3x%x(—2) ZGxZMJFZ
=3 x'—6 x
=6 x*+ 8§ x+2
@ —@) @ —-3(x—1)
(1) xx (1) x(—3) 2x+ 3)(2x — 1) (Bx+2)(Bx— 1)
=—x+3 = 42" 208843
N
® (-8 x2 w-2p-96 (- 2x3 4y x—3
=xx2+(—3)x2
0 x—p ©® (@2x+4)(2x— 4 ©® (Bx+1)(Bx—1)
©® (4x*—8x)+2x ® (61— 249+ 2x =4 CHasle 16
/4/—@ =4 x*—74
(4 x" =& x)x ——
oy oy F x 2x+ 5 (2x + 5) (3x + 5)(3x + 5)
T2 x 2x
= 422 £10x£10x+25
=2 %% —y
=4 x* +20 x +25
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1. /k@?ri%% XA ot Calculate the following formula. 3. /j’(@t% %%J@i Expand the following formula.
N HA N e H AT
11| RH R A 151 A iRz
© (-3b)x(-6a) O (=85 x(~T4) © @ 2 1) O (2x+ 3)(x + 1)
~(-3)x(-6xbxa
= 321308252
=7/& ab
@ axaxa @ xXxXxXx =3 x’+5 x+2
= al xalxal = al¥4 @ (3x—2)(x — 1) @ (2x—3)(x — 1)
— a3
i = 32" “jac2ut2
@ a2 x x4 = 1244 @ x2 X &3
—(xxx)x (xxxxxxx) =3 x*—5 x+2
= b ® (3x—3)(x—1) ® (2x—2)(x— 1)
2 2
@ (4xy) @ (5xy) 52 gpgets
=(4xy)x(4xy)
=76 x* y? =3 x'—6 x+3
® x5+ &3 ® x3 + a2 @ (4x—1)(x+ 2 @ (4x+3)(x— 2
_ XXX XX g g
a T = 4.2 f8x g2
= x2
. =4 x*+7 x—2
2. /j’(@t% Eﬁ'ﬁﬁ:i Expand the following formula.
A YA L ® (3x + 2) (x o 3) ® (2x + 3) (x o 1)
11| RE iRz
@ x@) D x(x—17) = e
=xxx+ xx(—4) =3 x2~7 X —56
=x'—4 x
— ® (Bx+1)(2x+ 3 ® (Bx+2)(2x+1)
@ 5(x— 3 @ 4(x— 3)
= 622 19x+2xF3
=5xx+ 5x(—3)
=5 x—/5 =6 x*+77 x +3
® 6@) ® 3x(x— 4) @ (Bx+1)(8x+ 2 @ (Bx+1)(2x+ 3
=6xxx+ 6xx(—2) :9x2i\§/9\9\t§\)&+2
=6 x'—72 x
=9 x?+9 x +2
@ —2(x — 4) @ —3(x—6)
=(—2) xx +(—2) x (—4) (2x+ 5)(23(3—1) (2x+ 3)(2x—1)
=T X3 = 42 43105
TN
® (X—4)x2 w-26-9|® (x— 5)x3 Y P x—5
= xx2+(—4)x2
kg @ (2x+ 3)(2x — 3 @ (Bx+2)(Bx— 2
® (6x'—3x)+3x ©® (61— 4xH)+2x =4 e
ﬁf—ﬁ/ _y P
=(6 x5 g% o
byt 3 x Bx+ 1)(8x + 1) (2x+1)(2x+ 1)
T 3x  3x
=9a 13xf3af1
=2 % —7
=9 x? +6x+7
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1. ko EEEE L,

Expand the following formula.

¥(x+ a)(x+ b)=2F+(a+ b)x+axbd

Expand the following formula.

¥(a+ b)?=a*+ 2ab + b

{5 Fi {5l i i

@ (x+ 5)(x + 1) @ (x+ 4)(x + 1) O (x + 1) @ (x + 3)
— a2 +(5+1) x+5x1 = 22 +2xax1 +12
=x'+6x+5 =x’+2 x+7

@ (x + 4) (x + 2) @ (x + 3)(x + 2) @ (x— 2 @ (x — 1)
— 22 +(4+2) x+4x2 = 22+ 2xxx(—2)+(—2)?
=x'+6 x+8 = x4 x+4

@ (x — 3)(x— 1) @ (x—2)(x— 1) @ (3x + y)? @ (2x + y)?
=22 +(—3—1) x+(—3)x(—1) = (3x)2+2 x(3x)xy +y2
—x?—4 x +3 =9 x’+6xy +y°

@ (x — 3)(x — 4) @ (x —2)(x — 5) @ (3x+ 2y)? @ (2x — 3y)?
= 22 +(=3—4) x+(—3)x(—4) = (30)2 +2 x(3x)x(2y) + (23)2
=x'—7 x+72 =9 x’+72 x y+4 y?

® (x— 6)(x+ 1)

= 22 +(—6+1) x+(—6)x1

=x'—5x—b

® (x—7)(x+ 1)

©® (x— 2)(x+ 5)

— 22 +(—2+5) x+(—2)x5

=x'+3x—70

©® (x — 3)(x+ 8)

@ (a + 5)(a — 4)

= a2 +(5—4) at+5x(—4)

=a’+ a—20

@ y+3)(y— 2

(A—4)(A+ 3

— A2 +(—4+3) A+(—4)x3

A~ A—-12

® (B—6) (B+5)

@ (x+2y) (x+ 6Y)

= x2+ (2y +6y) x+2yx6y

=x’+¢ xy+72 ¥y

@ (x+3y) (x+ 4y)

(x+ 3y (x—2y)

— 224 (3y—2y) x+3yx(—2y)

=x'+xy—6 y°

(x +6y) (x— v

Th by

3. KoAEEEE L,

Expand the following formula.

%(a+ b)(a—b)=a*— b

{5l [

D (x+ 2)(x — 2) @D (x + 6)(x — 6)
=& - 2°

= x’—4

@ @x+7)(x—7

® (x+5y(@x—5y)

@ 2x—y(@2x+y)
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1. ko EEEE L,

Expand the following formula.

¥(x+a)(x+b)=x*+(@+ bx+axb

Expand the following formula.

¥(a+b)P=a*+2ab + b

fi B i fi i

@ (x + 6)(x+ 1) @ (x+2)(x+ 3 D (x + 6) (x + 1)
— a2 +(6+1) x+6x1 = x2 +2xxX6 +62
=x'+7 x+6 = x’+72 x +36

@ (x + 2)(x + 6) @ (x + 3)(x + 4) @ (x— 1) (x — 4)?
— a2 (442) ot 4x2 — 224 2xax(—1) +(—1)2
=x'+6x+7¢ =x*—2 x+7/

@ (x — 4) (x — 1) @ (x —2)(x — 2) @ (x+ 2y)? (x + 3y)
= 22 +(—4—1) -+ (—a)x(—1) = x+2 xxx(2y)+(2)2
=x'—5x+4 =x'+4xy+4y°

@ (x — 4) (x — 2) @ (x — 8)(x — 1) @ (Bx— y)7 (2x — y)?
= o2 +(—4-2) x+(—4x(—2) = (81)2 +2 x(8xpx(—)+ ()2
= x'—6 x+¢ =9 26 x y+y’

® (x— 6)(x+ 1)

= 22 +(—6+1) x+(—6)x1

=x'—5x—b

® (x—7)(x+ 1)

Th P

3. kot i EEE L,

Expand the following formula.

%(a+b)(a— b)=a*— b

nwEn

il B

(ol
>
—

S

[2]

©® (x— 3)(x+ 4)

— a2 +(—3+4) x+(—3)x4

= x4+ x—72

©® (x — 2)(x + 6)

@ (x+ 3)(x— 3)

= x2 — 32

=x’—9

D (x+ 1) (x— 1)

@ (a+ 5)(a — 2

= a2 +(5—2) at+5x(—2)

=a’+3 a—70

@ (y+2)(y — 5)

@ (x— 5)(x + 5)

— 2 52

@ (x + 8)(x — 8

® (A 3)(A+5)

— A2 +(—3+5) A+(—3)x5

= A’+2 A—75

(B — 1) (B + 15)

® (x+2y) (x—2y)

@ (x+2y) (x + y)

@ (x+ 3y (x+ )

@ 6x+y (62— )

— 22+ (3y—4y) x+3yx(—4y)

—x'—xy /2 y

= x2+(2y+y) x+2yXy — (2 x)z — 52
— ¥ +3xy+2 y =4 x’—y’
® (x+3) (- 4y) |® (x+2) (6 ® k+ 3 ) F)o ) @ )
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1. ko EEEE L,

Expand the following formula.

¥(x+a)(x+b)=x*+(@+ bx+axb

Expand the following formula.

¥(a+b)P=a*+2ab + b

fi B i fi i

@ (x + 4)(x + 3) @ (x + 6)(x + 2) ® (x+ 3)* (x + 2)?
— a2 +(4+3) x+4x3 = 22 +2xax3 +32
=x'+7 x 472 = x*+6 x+9

@ (x + 1) (x + 4) @ (x + 2) (x + 3) @ (x— 6)* (x — 5)2
— a2 +(144) x+1x4 — 24 2xax(—6) +(—6)2
=x*+5 x +4 =x’—72 x +36

@ (x — 1) (x — 5) @ (x —2)(x — 4) @ (x+ 7y (x + 4y)
— 22 +(—1-5) x+(—1)x(—5) = 242 xax(Ty) +(7y)2
=x'—6x+5 =x’ 74 xy +49 y

@ (x — 1) (x — 3) @ (x—1)(x — 2) @ (4x— )7 (3x — y)?
= a2 +(—1-8) x+(—1)x(—3) = (422 +2 x(42)x(—y)+ ()2
=x'—4 x +3 =76 X' —76 x y+y*

® (x— 3)(x+ 1)

= a2 +(—3+1) x+(—3)x1

=x'—2 x—3

® (x—4)(x+ 1)

Th by

3. KoAEEEE L,

Expand the following formula.

%(a+b)(a— b)=a*— b

nwEn

il B

(ol
>
—

S

[2]

©® (x — 5)(x + 3)

— 22 +(—5+3) x+(—5)x3

=x'—2 x—/5

©® (x — 6)(x + 4)

D (x+ 4) (x — 4)

D (x+ 2) (x — 2)

@ (a+ 5)(a — 3)

— a2 +(5—3) at+5x(—3)

—a’+2 a—175

@ (a + 6)(a — 4)

@ (x+9((x—9

(A—3)(A+ 4

— A2 +(—3+4) A+(—3)x4

= A+ A-12

(A—2)(A+ 3

® (x+ 3y (x— 3y)

© (x + 4y) (x+ y)

= x2+ (4y +y) x+4yXy

—x'ts5xy+4 y°

@ (x+5y) (x + )

@ (Tx+y) (Tx—y)

(x+ 4y) (x — 5y)

= 22+ (4y *Sy) x+ 4y><(* 5y)

—x'—xy —20 y°

(x+ 5y (x— 6y)
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1. ko EEEE L,

Expand the following formula.

%(x+a)(x+b)=x*>+(a+bx+axb

BB

o KokzEME L.
(x+a)(x+

Expand the following formula.
b)=x>+(a+ b x +axb

nwnEn

il

HA D

[

HA N

] e

aic}

HATED

[

@ (x+ 3)(x+ 1)

— a2 +(3+1) x+3x1

= x4 x+3

@ (x+ 6)(x + 1)

@ (x+ 1) (x + 5)

@ (x+ 9)(x+ 1)

@ (x+ 2)(x+ 3)

— x2 +(2+3) x+2x3

@ (x+ 2)(x+ 4)

@ (x + 8) (x + 2)

@ (x+ 3)(x + 6)

— 22 +(—3—6) x+(—3)x(—6)

=x'—9 x+7¢

=x'+5 x+6

@ (x— 1) (x — 4) ® (x— 1) (x — 8) @ (x —5)(x — 1) ® (x— 1) (x — 6)
= a2 (-1 a)xt (- 1)x(—a)
=x’—5x+4

@ (x — 3)(x — 6) @ (x— 2)(x— 8) @ (x — 4) (x — 2) @ (x — 3)(x — 8)

® (x— 7)(x+ 1)

=22 +(—=7+1) x+(—7)x1

=x'—6 x—7

® (x— 6)(x+ 1)

® (x+2) (x — 4)

® (x — 4) (x + 3)

©® (x+ 7)(x—2)

— 22 +(7-2) x+7%(—2)

= x'+5x —74

® (x +9)(x— 3)

©® (x — 4)(x + 6)

(x +9)(x — 4)

@ (@ — 8)(a + 3

— a2 +(—8+3) a+(—8)x3

=—a’—5a—24

@ (y—9)(y + 3)

@ (b—4)(b+7)

@ (¢ +2)(c—9

A+ 17)(A—23)

— A2 +(7-3) A+7x(—3)

= AM+4 A -2/

(A+ 9 (A — 5

(@ — 4)(a+ 8

v+ 17— 9

@ (x+ 2y (@x+2y)

= x2+(2 y+2 y) x+2yX2y

=x'+t4 xy +4 v

@ (x+3y) (x+ 3y)

@ (x+4y)(x+ 4y

(x+5y) (x+ 5y)

(x+3y) (x — 3y)

— 22+ (3y—3) x+3yx(—3)

— 9

(x + ) (x— ¥

(x =5y (x—5y)

(x —6y)(x+ 6Y)
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1. ko EEEE L,

Expand the following formula.

%(x+a)(x+b)=x*>+(a+bx+axb

BB

o Kok EEE L,

Expand the following formula.

%(x+a)(x+b)=x*>+(a+bx+axb

nwnEn

il

HA D

[

HA N

] e

aic}

HATED

[

@ (x+ 3)(x + 2

— a2 +(3+2) x+3x2

= x5 x+o

D (x + 4) (x + 2

@ (x+ 2)(x + 8)

@ (x+ 9)(x + 2

@ (x+ 3)(x+ 4)

— a2 +(3+4) x+3x4

@ (x + 5)(x + 3)

@ (x + 3)(x + 6)

@ (x+ 7) (x+ 3)

= 22 +(—3—8) x+(—3)x(—9)

= x'—77 x +24

=x’+7 x +72

® (x— 5)(x — 2) ® (x— 6)(x — 2 ® (x — 7)(x —2) ® (x— 6)(x — 3)
= a2 (=52 xt(-5x(~2)
=x’—7 x+70

@ (x— 3)(x — 8) @ (x— 4)(x — 8) @ (x — 2)(x — 4) @ (x — 38)(x — 4)

® (x+ 7)(x— 6)

= 22 +(7—6) x+7x(—6)

= x'+ x —42

® (x+9)(x— 8

® (x — 5)(x + 6)

® (x + 5)(x — 4)

® (x+ 4)(x—7)

— 22 +(4—7) xt4x(—7)

=x'—3 x —2¢

® (x+3)(x—7)

©® (x + 4)(x — 5)

(x + 5) (x — 6)

@ (x — 8) (x + 5)

— a2 +(—8+5) a+(—8)x5

=a’—3 a—40

@ (x— 7) (x + 5)

@ (x — 8) (x + 4)

@ (x— 9)(x + 6)

® (A+ 7)(A— 4

— A2 +(7—4) A+7x(—4)

= A’+3 A —2¢

(A+6)(A -1

(@ — 4)(a + 5)

y+ 7@ — 2

@ (x+4y)(x+ 4y)

= x2+(4 y+4 y) xt4yX4dy

=x'+s xy +i6 y?

@ (x+3y) (x+ 3y)

@ (x+ ) (x+y)

(x+ 7y (x+ 7y

(x+2y(@x—2y)
—22+(@2y—2y) x+2yx(—2y)

2

=x'—4 y’

(x+3y) (x— 3y)

(x—4y) (x+ 4y

(x—5y)(x+ 5y)
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1. ko EEEE L,

Expand the following formula.

%(x+a)(x+b)=x*>+(a+bx+axb

BB

o Kok EEE L,

Expand the following formula.

%(x+a)(x+b)=x*>+(a+bx+axb

nwnEn

il

HA D

[

HA N

] e

aic}

HATED

[

@ (x+ 1) (x+ 2

= a2 +(1+2) x+1x2

=2’ +3 x+2

@ (x+ 1) (x+ 3)

@ (x+ 1) (x + 4)

@ (x + 1) (x + 5)

@ (x+ 2y (x+ 6y

= x2 +(2+3) x y+2x6 y2

—x' e xy +/2 v

@ (x+2y(x+ 5y

@ (x+2)(x+ 4y)

@ (x+2y) (x+ 3y)

® (x— 3)(x — 4)

— a2 +(—3—4) x+(—3)x(—4)

=x'—7 x+72

® (x — 3)(x — 5)

® (x — 3)(x — 6)

® (x— 3)(x — 2

@ (x — 3)(x + 5)

— 2 +(—3+5) x+(—3)x(—6)

=x'+2 x+/8

@ (x— 3)(x + 4)

@ (x — 3)(x + 6)

(x — 8)(x + 7)

® (x— 6)(x+ 4)

= 22 +(—6+4) x+(—6)x4

=x'—2 x —24

® (x — 6)(x + 3)

® (x —6)(x—2)

® (x — 6)(x + 1)

® (x+ 3y (x—2y)

— 22 +(3—2) x y+3x(—2) y2

=x't+xy—6y°

® (x+4y) (x— 3y)

® (x—5y)(x+ 4y)

(x — 6y (x+ 5y)

@ (x — 5)(x — 5)

— a2 +(—5-5) x y+(—5)x(—>5)

=x’—70 x +25

@ (x — 6) (x — 6)

@ (x—7)(x—7)

@ (x — 8) (x — 8

(x+ 3y (x+ 3y)

— a2 +(3+3) x y+3x3 y2

=x’+6xy+9 y

(x+ 4y (x+4y)

(x+2y) (x+ 2y

(x + y) (x+y)

@ (x+ 4y) (x—4y)

= x2+(4 y—4 y) xt4yX (*4 y)

=x’'—76 y

@ (x+5y(x— 5y)

@ (x+6y(x—6y)

(x+7y)(x— 7y

(x— 9y (x+9y)

— 22+(—3+3) x y+(—9)x9 2

— 9

(x —8y) (x + 8y)

(x—2y(@x+2y)

@ (x—y)(x+ )
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1.

2.

Th

Th v

/j’(@t% Eﬁ'ﬁ%’:i Expand the following formula. . /j’(@t% Eﬁ'ﬁv@:i Expand the following formula.
$(x+a)P=x2>+2ax + a’ $¥(x+a)P=x*+2ax +
f5il i [ i i
O (x + 3)° O (x + 4)° O (x + 1)° ® (x + 2)°
— %2 +2x3x x+32
=x'+6x+9
@ (x+ 5) @ (x + 6) @ (x + 7y @ (x + 8
— &2 42 x 5 x x+52
=x+70 x +25
@ (x— 7 @ (x — 6) ® (x — 5) (x — 4)?
— o +2x (—7) x x+(—7)2
=x’—74 x +49
@ (x — 8 @ (x— 1) @ (x — 2 © (x — 3)°
— 22 +2 x (—8) x x+(—8)2
=x'—76 x +64
@(x+2y)2 @(x+9y)2 @(x—y)2 (x—5y)2
— 22 +2 % (2y) x x+(2y)2
=x'+4 xy +4y
/j’(@t% %%%V@:J: Expand the following formula. . /j’(@t% %%%V@: J: Expand the following formula.
¥(a+ b)Y =ad>+2ab + b $(a+bYP=a>+2ab+ b
{5l i [ i i
O (2x+ 1) O (3x+ 1) O (4x+ 1) ® (5x+ 1)
—(2x)2+2x(2x) x 1+12
=4 x* 4 x+7
@ (3x + 2)° @ (2x + 3) @ (2x + 5)° ® (3x + 5)°
—(Bx)2 +2x(3x) x 2422
=9 x*+72 x +4
@ (3x — 2)° ® (2x — 3) @ (2x — 5)° @ (3x — 5)
= (3 2)2 +2x(3 x)x(—2)+(—2)?
=9 x*—72 x +4
@ (4x— 2 @ (5x— 2) @ (2x — 2)° ® (4x— 3)°
— (4 22 +2x(4 )x(—2)+(—2)2
=76 x°—76 x +4
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/j’(@t% Eﬁ'ﬁ%’:i Expand the following formula. . /j’(@t% Eﬁ'ﬁv@:i Expand the following formula.
$(x+a)P=x2>+2ax + a’ $¥(x+a)P=x*+2ax +
f5il i [ i i
O (x+ 1) O (x + 2 ® (x + 3y ® (x+ 4)
— &2 +2x1xx+12
=x'+2 x4/
@ (x+ 8 @ (x+ 7 @ (x + 6) @ (x + 5)
— %2 +2x 8x x+82
=x’+76 x +64
@ (x — 6) @ (x— 9) ® (x — 8 (x — 2)°
— % +2x (—6) x x+(—6)2
=x'—72 x +36
@ (x— 1) @ (x — 3)° @ (x — 4) © (x— 7
— a2 +2x (—1) x x+(—1)2
=x'—2 x+7
® (x—5y) ® (x—4y)° ® (x— y)? (x — 2)°
— 2 +2 x (—5y) x x+(—5y)2
=x'—70 xy +25 y°
/j’(@t% %%%V@:J: Expand the following formula. . /j’(@t% %%%V@: J: Expand the following formula.
¥(a+ b)Y =ad>+2ab + b $(a+bYP=a>+2ab+ b
{5l i [ i i
O (4x+ 1) O (5x+ 1) O (Bx + 1)° ® (2x+ 1)
—(4x)2+2x(4x)x1+12
=76 x*+8& x +7
@ (3x + 2)° @ (2x + 2) @ (4x + 2)° ® (5x+ 2
—(Bx)2 +2x(3x) x 2422
=9 x*+72 x +4
@ (2x — 3)° ® (3x — 3)° @ (5x — 3)° @ (4x— 3)°
= (2 2)? +2x(2 x)x(—3)+(—3)?
=4 x*—72 x +9
@ (5x — y)° @ (4x— y)? @ (3x — y)? ® (2x — y)°
= (5 %)2 +2x(5 )x(—y)+(—y)2
=25 x'—70 xy + y’
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/j’( D JC & E E'ﬁ H J: Expand the following formula. . /j’( D] ft & E E‘Fﬁ H J: Expand the following formula.
¥(a+b)(a—b)=a*— b ¥(a+b)(a—b)=a*— b
il 1] ] [
@ (x+ 9)(x—9) @ (x + 6)(x — 6) @ (x+ 1) (x— 1) @ (x+ 2)(x— 2
=29
= x’—¢7

@ (x — 5)(x + 5)
= 32 52

= x’— 2%

@ (x — 4) (x + 4)

@ (x—7)(x+7)

@ (x — 8) (x + 8)

® (x + 10) (x — 10)

® (x— 12) (x + 12)

® (x + 13) (x — 13)

® (x — 15) (x + 15)

= 22 —102
= %7 —700
@(x+%)(x— % @(x+%)(x— %) @ (x+%) (x—%) (x+%) (x—%)
S ()
_ 2
B 4

® (7Tx —1)(7Tx+ 1)

= (727 —12

=49 x?—7

® (4x—1)(4x + 1)

® (3x+1)(83x— 1)

® Bx—1)(Bx+ 1)

® (4x—2)(4x + 2)

= (4 x)2 —22

=76 x*—4

® (2x—9)(2x + 9)

® (7x+ 5)(7x— 5)

(8x — 3)(8x + 3)

@ 2x+y(@2x—y)

=222 =52

=4 x'— y?

@ B6x+ y) 6x—y)

@ Bx—y)(3x+y)

@ (Tx+y) (Tx—y)

(Bx+4y)(3x— 4y)

=2 —(4y)?

=9 x’—76 y’

Gx+2y)(5x— 2y)

(7x+6y) (Tx — 6Y)

(8x—5y)(8x + 5)

©® (a+ 6b)(a — 60D)

= o2 *(6 b)2

= a’—36 b’

©® (a+5b)(a— 5b)

@ (@ — 7b)(a+ 7b)

(@—90b)(a+ 9b)

(xy+8xy—8)

= (ea)? —8?

= x’y’— 64

xy+7)(xy—17)

(@b +5)(ab— 5)

@ (ab—4)(a b+ 4)
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/j’( D JC & E E'ﬁ H J: Expand the following formula. . /j’( D] ft & E E‘Fﬁ H J: Expand the following formula.
¥(a+b)(a—b)=a*— b ¥(a+b)(a—b)=a*— b
il ] i ] 1
@ (x+ 8 (x — 8) @ (x+7)@x—7) @ (x+ 9)(x—9) @ (x + 6) (x — 6)
=2 -8
= x’— 64

@ (x — 3)(x + 3)
= % 32

@ (x —2)(x + 2

@ (x — 4) (x + 4)

@ (x — 5)(x + 5)

® (x — 10) (x + 10)

® (x + 13) (x — 13)

® (x — 12) (x + 12)

— 212
= x*—7
@ (x+%)(x— %
s
2 1

@ (x+%) (x—%)

3
® Bx —1)(Bx+1)

= (522 —12

=25 x*—7

® (6x — 1)(6x + 1)

® (2x+1)(2x— 1)

® (4x— 1) (4x + 1)

® 2x—7)2x+ 7

= (2 x)2 —72

=4 x*—49

® (3x— 4)(3x + 4)

® (5x+6)(5x — 6)

(7x— 8 (Tx + 8

@ (4x+y) (dx—y)

=(4xP -2

=76 x°— y?

@ BGx+ yBGx—y)

@ (2x—y) (2x+y)

@ Bx+y (Bx—y)

Bx+2y)(3x— 2y)

=2 —@y)°

=9 x’—4 y?

(Ax+2y)(4x— 2y)

(7x+5y) (Tx— 5Y)

Bx—9y)(8x + 9y)

©® (@a+9b)(a— 90D)

= 2 *(9 b)2

= a’—s7 b’

©® (a+3b)(a— 3b)

@ (@ — 7b)(a+ 7b)

(@—90b)(a+ 9b)

(xy+5)xy—5)

= ()2 5

= x’y’—25

(xy+1)(xy—1)

(@b +3)(ab— 3

@ (ab—6)(ab+ 6)
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1. /j’(@;ﬂ‘%% H ot Calculate the following formula. 3. /j’(@t% Eﬁ'ﬁv@:i Expand the following formula.
WD v ><x+a2 x2+2ax+a
L ik b i
i b
O 2xx2x =2x2xxxx O 3xXx3x
@ (x+1)2 @ (x + 4)
— 2
= dx =2 +2x1xx +12
@ 2xxx3 =2x3xx @ 2xxx3y x4 x4
=6
* @ (x+2)? @ (x+3)
@ ab+abd =1+1)ab |@ ax+ ax — 22 12x2xx 1922
=2ab = X' Xty
@ —2x +2x =(2+2x |@® 3x — 3x @(x+2y)2 @(x+3y)2
—0 =a242x2yxx +(29)>
ek Thh S L& Lrodwn - 2 2
2. DR Fﬂ‘ N AFE BE X, =X t+4Lxy 4y
Prove the following expansion formula.
Tho
vED 4. /j’(@t%ﬁfﬁﬁi Expand the following formula.
i@ (a+b)y=a2+2ab+ b? i 2Xp t :
$(x+a)P=x>+2ax + a?
(atb)= (a+ b)(a+ d) il i
=a’> +ab+ab+ b? @ (x—4) @ (x—1)
= a’ +2 ab+ b’ QED = a2 —2Xdxx +42
b 9 )
HEO (x+a)=a+2ax+ a =X ¢ x+76
@ (x—5) @ (x—3)
= a2 —2x5xx +52
=x*—70 x +25
©) (x—5y)2 ®) (x—2y)2
nEn _ _ 2
MK (a—bP=a>—2ab+ b? = m2xzyxa 2y
7w T ) 2
(a~b)2:(a~ b)(a— b) =x"—/0xy+25Yy
W
Thoo
— a2 - ab* ab+ bZ 5. /j’(@t%@ﬁ'ﬁﬁi Expand the following formula.
= a’ —2ab+ b’ QED “(a+ b =ad>+2ab+ b?

bATEW

HE® (x—a)=2—2ax+ a

nwiEn

il B

bAED

i &

@ (2x+ 5)°

=2%)2 +2x(2%) x 5+52

=4 x*4+20 x +25

@ (3x+ 4)

@ (2x+ y)

=2x2 +2x(2x) xy+y2

=4 X'+4 x+ y°

@ (3x+ y)?

@ (4x— 3)°

=4 x2 —2x(4x) x 3+32

=76 x*—24 x+9

@ (bx—2)?
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1 ROFE AR & P L, 3. WER G kI ﬁb\,it%EFaﬁbfocéu\
Prove the following expansion formula. Perform the necessary calculations and then expand the formula.
e En 9 9 9 a7 b AR
B (a+b)"=a®+2ab+ b 51 R [ R
@ (5x+y)(bx—1y) @ (6x—y)(6x+y)

" /bﬂb
(@sb)= (a+ 8)(a+b)

—a’ +tab+ab+ b fx Xbx = 20

=a’> +2 ab+ b’ QED yXy = y°

>

G g RN — 2 2
O (a—b)2=a2—2ab+ b (5 x4 y)(5x—y)

= 25 x? — y?

@ (xy—3)(xy+3) @ (ab—2)(ab+ 2)

[ead
Bme
<

Q) (a+b)(a—b)=a?— b 3 %3 = 9

XX x = x?
SF  YuEk W x5 LE  Th L
2. WOFHEEZFHL T, KZzEBREAL I, ] o1 _ T
Expand the formula using the following calculations. 2 2
foil i / /
[
) (x+57) (== )
O xxx = x’ DO axa
o L
2 Xxxx9 =78 «x 2 XaX5h i
99 iy 5 x5 @ (4x+ 1)2 @ (3x+ 1)2
4 xxy x = /b x?
(x+ 9)2 (a+5)2
2 X4 xx/] = § x
= x*4+78 x +87
/7 X7 = 7/
(x+9)(x—9) (a+5)(a—5)
= x’—¢7 (4 x+7)
= /6 x?+¢& x+7
@ 3xx3x =9 x’ @ 2x%x2x
_ 9)\2 _ 92
2 Xx3xX4y =24 xy 2 X2xxXy ® (x—3) ® (x—2)
— 2
4yx4y =76y’ y Xy ¥ ¥
2 XxX3 = 6 x
(3x—4y)2 (2x—y)2
3 X3 = 9
=9 x’ =24 xy +76 y°
(8x—4y)(3xtdy) (2x—y)(2x+y) (x—3 )7
=9 x’—76 y° = x2—6 x+9
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Expand the formula using the following calculations. Perform the necessary calculations and then expand the formula.
o En HA N N b A ED
15 R4 R 15l &E ] RH
2 2
D axa =a’ D bxb @ (x+9) @ (y+ 10)
_ 2
2xax3 =6 a 2 xbx4 rxx =X
3x3 =9 4% 4 2 XxX9 = 7§ «x
9 X9 = &7
(a+ 3) (b+ 4)
=a’t6a+9 (x+9)°
(a+3)(a—3) (b+4)(b— 4) = x' + 78 x+ &7
= x’—9
) (2(1—1)2 ) (3x—1)2
@ 3ax3a =9 a’ @ 6x%X6x
2ax2a = 4 a
2X3axbb =30 ab 2 X6xXy
2 X2 axX/] = 4 a
5bx5b =25 b° y Xy
7 X7 = &7
(3a+ 5y)2 (6x+y)2
PRY)
=9 a’+30 ab +25 b’ (2a=1)
(3a+5b)(3a+50) (6x+y)(6x—y) - raetard
=9 a’—25 b
@ (4xy—z)(4xytz) |O® (abc— d)(abc+ d)
X = 2 2 X
@ xyxxy x°y @ abxab Lxyxd vy =1 2 5
2 XxyX2 =4 xy 2 Xabxh R _ 2
2% 2 =4 5X%X5
(41xy z)(#xy+z)
(xy—2) (ab—5)
xy a
:/éxzyz~z2
=&’ y2~4 xy +4
(xy—2)(xy+ 2) (ab—5)(ab+ 5)
o L? Th M
) w o & £ NCA Expand the following formula.
=x° y —H4
b bHAEN
[=] E Flﬂ%
@ x*x ” =’ @ 2x%x24%” @ (x+ 1) @ (y—2)
2 xx2x8 =74 x 2 x2x2x9
8% 8 =64 9x9
@ (x+ 7)2 ® (xy—l)2
(3c2—8)2 (2x2+ 9)2

=x"—76 & + 44
(22— 8)(s*+ 8)

= x'— 4y

(24— 9)(2a%+ 9)

© (x+ 7)(x—7)

® (2a—3b)(2a+3b)
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Prove the following expansion formula.

3 %Dk*ﬁ@;ﬂ‘%%bf

Th L

&@t%&ﬁb@ém

Calculate sums and products and expand the following formula.

nwrEn
BE (a+

(a+b)=

b>=a2+2ab+ b2
7w T
(a+ b)(a+ b)
W
=a’+tab+ab+ b

= a*+2ab+ b

QED

bAEWN

H 8

(x+a)(x+b)=a2+(a+b)x+ ab

KOHEEFMLC, A2 EELAS L,
Expand the formula using the following calculations.

i Fii B

2+ 3 =5 2+ 4
® ®

2%x3 =6 2% 4

(x +2) (x+ 3) (x +2) (x +4)
= Xx"+5 X +6

(—9)+ (1) =-70 (—8)+(—2)
® ®

(=9 x(-1) = ¢ (—8) x(—2)

(x —9)(x—1) (x —8) (x —2)
=X"—70 X +9

2+ (=7 =—5 6 +(—8)
©) ©)

2% (=7 =14 6 x (—8)

(x +2)(x—1) (x +6)(x —8)
= 5% —74

(—5)+4 =—/ (—4)+ 3
@ @

(=5) x4 =—20 (—4)x3

(x —5) (x+ 4) (x —4) (x +3)
= x’— X —20

nwnEn

il B

>

b AN
]

@ (x+2)(x+5)
245 =7

2 X5 =70

(x+2)(x+5)

= X’+7 x +70

@ (x+3)(x+5)

(=3)+(—7) =—«

(=8)x (=) = 3

(x—=3) (x—7)
4% +3

@ (x—4)(x—1)

® (x—4)(x+5)

5+(=7) = 4

5 x(=7) =-=5

(x+5) (x—1)
= x'+4 x —5

@ (x+4)(x—1)

Expand the following formu

la.

>

b AN
]

® (x+4)(x+5)

@ (x—3)(x+6)

@ (x+4)(x—6)
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Calculate sums and products and expand the following formula.

Th P

&@t%&ﬁb@ém

2. %Dk%ﬁ@;ﬁr%%bf

Th P

&@t%&ﬁb@ém

Calculate sums and products and expand the following formula.

nwnEn

il

h

b N
[ R

bAEN

A

>~
T

)m.{.—

b A
i 2

@ (x+1) (x+ 4
I+4 =5
Ix4 =y
(x +7) (x +4)

= x"+5 x4

@ (x+ 1) (x + 5)

@ (x+1) (x+ 6

® (x+1) (x+7)

@ (x+3) (x—1)

3+ (—-7) = 2
3 x(=7) =—3
(x +3) (x —/)
= x'+2 x —3

@ (x+7) (x—3)

@ (x +6)(x—2

® (x+5 (x—1)

® (x—6)(x+7)

® (x—3) (x +7)

@ (x —2) (x + 8

@ (x—6) (x—17)

@ (x —3) (x — 5)

(x —2) (x — 9

(=3)+3 =0
(—3)x3 =—9
(x —3) (x +3)
=x* —9

® (x—6) (x+ 6

Expand the following formu

la.

>

b AN
]

® (x+4)(x—2)

@ (x—4)(x—6)




